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1.  1:0 g of Mg is burnt with 0-28 gof Ogina |1, 1.0 mo Mg oI 028 w0 0, ¥n3
=3

closed vessel. Which reactant i_s left in m?%d m@ OSJQ, o o s md 8 oan
excess and how much ? ;
TRy eVechoZd gy R ?
(A) Mg,58¢g :
(A) Mg, 58¢g
(B) Mg, 058¢ (B) Mg, 058¢g -
(C) 09,024¢ (C) Og,024¢
(D) Og24g (D) Oy, 248

2. The orbital nearest to the nucleus is

2. RRIHRT BES A0S g8

(A) 4f
(A) 4f

B

S (B) b5d

(C) 4s (C) 4s

D) 7p D) 7p

3.  Which of the following is the correct order

of radius ? | 3. B FINIYNIEY, 3rd> FOBHRT N

3R3OB?

(A) H >H>H'

‘= +
(B) Nat>F > 0% o
(B) Na*>F >0%

(C) F >02% >Na‘* " v
(C) F >0 >Nat

3+ 2+ 3-
(ARG e (D) AP* > Mg?* > N3~

Space for Rough Work / 2,083 éoﬁa’; 3@%‘3
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4. The intramolecular hydrogen bond is |4. 8 39508  CCRJYWOS, Stepletter

DIESERE . B 0% AT ?

(A) Phenol
(A)  eHO°
(B) o-Nitrophenol
(B) o-FHiRepemoer
(C) p-Nitrophenol
(C©) p-FunepeRS”
(D) p-Cresol

(D) p-37e*

5. The state of hybrid orbitals of carbon in

| 5. COp CH; R COZ~ I womed
COy, CHy and COE_ respectively is 2 SHES 3 2 @

RoBTED FFINY A3
(A) SP3, sp2 and sp A) sp3 sp2 = -

. 3 2
(B) sp®, spandsp B Stapetyip?
(C) sp, sp® and sp2
(C) sp, sp3 R3) sp?
(D) sp?, sp and sp

: ' (D) sp? sp3 SR sp

6. For an ideal gas, compressibility factor is

6. ST BROT BNIONOE 903

A 0

A 0
B 1

B 1
¢ -1 © -1

Space for Rough Work / 2,880 ivﬁi'; %ﬁ?
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The relationship between K, and K, is
K, = K (RT)A". What would be the value

of An for the reaction
NH,C1 (s) = NH;3 (g) + HC1 (g) ?
A 1
B) 05
© 15
D) 2

Acidity of BF3 can be explained on which

of the following concepts ?

(A) Arrhenius concept

(B) Bronsted-Lowry concept
(C) Lewis concept

(D) Bronsted-Lowry as well as Lewis
concept

For the redox reaction
xMnOy +yHyCy04 +zHY »
m Mn?* + n CO, + p HyO

The values of x, y, m and n are
(A) 10,2,5,2

B 2,5,2,10

© 6,4,2,5

D) 3,5,2,10

K, 3K, noncos 3owos K, = K(RT)A®
NH,CI (s) = NHj (g) + HC (g) 83 03 An
233 A0 ? |

A) 1
(B) 05
C) 15
D) 2

BF; 03 650ecthdodom), 85 39803 a3
ATRE300B FPORLIBR ?

(A) ©DEROIR" ATHOZ
(B) WS RE-e00 ATRO3
(C) SIS a3
(D) RIZE-e00 ATRET TN SHTT
RTIN03
[»~)

33 BINT YUSTOETIRFT 30300309,
xMnOj +yHyCy04 +zHY

m Mn?* + n CO, + p HyO
X, y, m &3 n 3030

(A) 10,2,5,2
B) 2,5,2,10
(C) 6,4,2,5

(D) 3,5,2,10

Chemistry
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10. H,0, is

(A) An oxidising agent

N p——————— _

(B) A reducing agent

(C) Both oxidising and reducing agent

(D) Neither oxidising nor
agent

11. Dead burnt plaster is

(A) CaSO,

(B) CaSO,- %H2o

(C) CaSO,-H,0

(D) CaSO4 M 2H20

reducing

11.

12. Identify the following compound Which 12.

exhibits geometrical isomerism :
(A) But-2-ene

(B) But-1-ene

(C) Butane

(D) Isobutane

10. H202 ?NOZSJ

(A) eméaﬁrsama (Q:Bé)t%%oﬁ sozﬁoé.s)
(B) ¢oTBRFEITOO (6@@.@5%071“ ms'fo&s)
(C)  SVBRFETD 0B WTBRF£9T0

(D) CUZRFEFD B STIRFEITO
ROBER €Y.

BE® W0 TIO® ARJRD ?

(A) CaSO,
1
(B) CaSO,+ - H,0

(C) CaSO,-H,0

(D) CaSO,- 2H,0

3908  DowoINFY,  03ecDd
REBI0NE EREOROBEI), TMOTOR

(A) w%&s-z-ésa"
(B) 2Rt-1-88°
© w%e?ea‘

(D) aoﬂmew%wea@

Space for Rough Work / 2,883 303% %ﬂ?
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13.

14.

(B)

During the fusion of organic compound
with sodium metal, nitrogen present in

the organic compound is converted into
(A) NaNO,
NaNH,
(C) NaCN

(D) NaNC

The reagent X’ used for the following

reaction is
X R \ / R’
R—CECR’+H2 =5 C=C
H Mu
(A) Ni
(B) Pd/C
(C) LiAlH,

(D) Na/Liquid NHg

13.

14.

ROOT  BooIVTINB/IY,  RAReRIT®
SneaBdpod BoRWoR,  AORODD
R0030gB[RNIOTB FoWSTY B3 FINI
03303 F00320F BAYON BINTOF BB

(A) NaNO,
(B) NaNH,
(C) NaCN
(D) NaNC
FPNS 3,030m WSROI §,03595008 X

! : X R \ / RI
R-C=CR'+H, 2> (€=C

B BNE

A) Ni
(B) Pd/C
(C) LiAlH,

(D) Na/Liquid NH;

Chemistry
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15. Which of the following ions will cause | 15. 83 BINS ONRT LOIRIOALD V0T

hardness in water ? mg;gggea apds@mﬁ@"
(A) Ca*
(A) Ca?t
(B) Na*
(B) Na*
) CI-
(C) CIr
(D) Kt
(D) Kt

16. Which of the following oxides shows 16. dnemnivod @d%ae ®§wﬁ#§3« c3R

electrical properties like metals ? 8, B BReORYS ?
(A) Si0; (A) SiOy

(B) MgO B MgO

(O BSa® ©) SOz (s)

(D) CrO, s

17. 39N C3E  RFensd w308 I,
17. Which of the following aqueous solutions

should have the highest boiling point ? BOOD0E WO B
(A) 1-0M NaOH (A) 1-0 M NaOH

(B) 1-0M NaySO, (B) 1-0 M NaySO,

(©) 1-0 M NH,NO; (C) 10 M NH,NO;
(D) 10MKNOg (D) 10 M KNOjg

Space for Rough Work / 2883 3053* g
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18. The charge required for the reduction of

1 mole of MnO,, to MnO, is

(A) 1F
(B) 3F
(C) 5F

M) 7F

19. For the reaction,

250y + Og = 2803,
the rate of disappearance of O, is
2 x 1074 mol L' 571, The rate of

appearance of SOg is

(A) 2x10*molL1g!
B) 4x10%molL g
(C) 1x10'molL g

D) 6x10%molL1g!

18.

19.

1 &P MnO, 008 MnO, N
ITIRF OWONLY 3TN DT, TBES)

(A 1F
B) 3F
(C) 5F

D) 7F

3 39N 8,031
250, + Oy = 250,
0, 3 REHOS 30

2 x 10 mol L1 57! 8538 S04 3
UBZ0ERNOT =T

(A 2x10%molL1g?
B) 4x10*molL1g?
(€ 1x10lmolL1g?

D) 6x104molL1s!

Space for Rough Work / 2,883 3033* e
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20. Which of the following electrolytes will 20. =3 3@3{‘5@“@@0, evipey @d%@ﬁ?fdg Agl/Ag*

have maximum coagulating value for RRe® &) NOR, BRedzo RD0BI),
Agl/Ag* sol ? BRODTOITS ?
(A) NagS (A) NayS
B) Na3PO4 (B) Na3PO4
(C) Na2804 (C) Nast4
(D) NaCl
(D) NaCl '

, LEr. |21, AT BB  deedndd i) 0esss
21. Electrolytic refining is used to purify 2 3

which of the following metals ? PERERE LORRLbnly
(A) CuandZn Ay Cua3Zn
(B) Ge andSi (B) Ge 333 Si
(C) ZrandTi (C) Zr DA Ti
(D) Znand Hg (D) Zn 33 Hg
22. Dryiceis | 22, gom Sromoridioy
(A) Solid CO A) BICO
(B) Solid SO, = | B BIS0,
(C) - Solid CO, © BICO,
(D) Solid O, D) B0,

Space for Rough Work / 2.0 30:5% s
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23. Which of the following is an amphoteric [ 23. ¥INS ooz &8 & Weed Sopiioe

!

= (¢orod) &8 @ oncs

(A) V304, Cry0Og (A) V305, Cry0g

(B) Mny0Oy, CryOg (B) Mny0y, Cry0q

(C) CroO, V205 (C) CrO, V205

(D) V305, V50, (D) V304, V50Oy

24. [Co(NH3),CI(NO,)ICI S IUPAC 333

24. The IUPAQ name of

[Co(NHj),CI(NO,)ICl is (A) BeReysigdregiitia-N-

doweer (1) 2R3
(A) tetraamminechloridonitrito-N-
cobalt(III) chloride (B) eéés_a)eaﬁg,di@pdragd@ﬁramvgln
g

(B) tetraamminechloridonitrocobalt(II)

chloride © ﬁ@ed@,ﬁéxgpd@%@i@ﬁmmqgl)
(C) tetraamminechloridonitrocobalt(I) i@gw
chloride
(D) &m0 ER0ERTEF R BRWoT(IIT)
(D) tetraamminechloridodinitrocobalt(III) g\@%@c
chloride '

Space for Rough Work / 2,88 Soxi P4
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25.

26.

27.

Which of the following statements is true
in case of alkyl halides ? '

(A) They are’'polar in nature

(B) They can form hydrogen bonds

(C) They are highly soluble in water

(D) They undergo addition reactions

Phenol can be distinguished from ethanol
by the reagent

(A) Bromine water

(B) Sodium metal

©)

Iron metal

(D) Chlorine water

Which of the

undergoes haloform reaction ?

following compounds

(A) CH4COCHj

(B) HCHO

(C) CHCH,Br

(D) CHz- O - CHj

25.

26.

27.

83 FINT 00T Bews wd o I nen
R0WOHAITIOB ABT|OTIT ?

(A) PN PR RO BpodTZS
(B) ORST WOFRI), DTF BRI
(€C) 5 QDT B BONIBS

(D) ©FInsb F0803 031 LIRS

BINS oS Oeoﬂaeuom&a WHR @?Jemeabq
B1Z e SRTRUTROR B eRITOD

(A)  BReeS® JeTd

(B) Rretcdo Brex

(®) 6&9)9@ Srex

(D) BROET® JeTHd

31 39N Bockng BRME, To,SRETORF
8050 CARTIT) L. 9TRIES ?

(A) CH;COCH4

(B) HCHO

(C) CHZCHyBr

(D) CH,;-O-CHjy

Chemistry
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28.

29.

30.

Which of the following will be the most
stable diazonium salt (R N3 X) ?

(A) CH3 Nj; X

(B) Cg¢Hz N3 X~

(C) CH3CH, N; X

(D) CgHz CHy Ny X~

Which of the following bases is not
present in DNA ?

(A) Adenine

(B) Guanine
(C) Cytosine

(D) Uracil

Which one of the following is a polyamide

polymer ?
(A) Terylene

(B) Nylon-6,6
(C) Buna-S

(D) Bakelite

28.

29.

30.

83 NS Fesededado (R N X))

OBNGY, CIRF> Ve 4SS BoRTS ?
(A) CH3 N; X
(B) CgHs Nj X~
(C) CH3CH,; N; X

(D) CgHsCH, Ny X°

& 0803 cins FRR, B.0T.0. 3O,

JOOBOY,?
(A) @F*
(B)
©)

(D)

8 3980R ORI, TeRw

TOR0T* IR ?
A) @300

(B) %ma‘-&é
(C) wWRJ-S

(D) maséeegw

Chemistry
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31. In F.C.C. the unit cell is shared equally | 31. &F.%.%. R, @vE 03T BeF el

. by how many unit cells ? DR, O3RN IR0l TowdoRTHITS
(A 10 (A) 10
(B) 8 B 8
(C) 6
C) 6
D) 2
D) 2

82. At a particular temperature, the ratio of | 32, .03 DR FITRRITEO 001 M NaCl
’ T ed ™ ;

molar conductance t(? spt.aciﬁc conductance ) de@_d Breend TTZ TN @5&;
of 0-01 M Na(l solution is 3o eRmd

A)  10° cm® mol ™! 9
A) ol (A) 10° cm® mol™

3 3 -1
(B) 10 ol B) 10° cm® mol
(© 10 cm® mol™ (© 10 cm® mol ™.
(D) 10° cm? mol™! (D) 10° cm? mol

33. D GMPF WLIRE BN,  2.05¢
Deodd BROQTIZSS.

33. Isotonic solutions are solutions having

the same

(A) &QQZ o 93

(A) Surface tension

(B) ©Q wI@
(B) Vapour pressure

(C) ST 1IR

(C) Osmotic pressure

(D) Viscosity D) 73

Space for Rough Work / 2,883 30?’)3; :g?
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34. The temperature coefficient of a reaction

35.

36.

is 2. When the temperature is increased
from 30°C to 90°C, the rate of reaction is

- increased by

(A) 150 times

(B) 410 times

©

72 times

(D) 64 times

Gold sol is not a

(A) Lyophobic sol

(B) Negatively charged sol
(C) Macromolecular sol

(D) Multimolecular colloid

The common impurity present in bauxite
is

(A) CuO
(B) ZnO
(C) Fey0g

(D) Cr203

34,

35.

36.

2,000 §030% eVFIOD Feeaquo3d0E’
2 &N, 2.0t 030D euEges) 30°C
Q0T 90°C 7 FBeIJordgas. &n 803080
Ben R, s

(A) 150 RCH
(B) 410 300D
(C) 72 300D

(D) 64 AT

WOTROE  3OUR) FBNSINSE. IR

SHII
A) OocdpegpeRs® Foor
(B)  DITTOBRE, T
©) BnREpIndagoo® Foe*

(D) doe% d.@@#.r%oc" T

mabaagsmﬂ EaD &
eﬂebc;pé’ﬁ@do [evirtnjfafelnte]

Claleialevrnt

(A)
(B)
(©)

CuO
Zn0O
F6203

(D) Cry04

Chemistry
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37.

38.

39.

Very pure N, can be obtained by

(A) Thermal decomposition of
ammonium dichromate

(B) Treating aqueous solution of NH,Cl
and NaNO,

(C) Liquifaction and fractional
distillation of liquid air

(D). Thermal decomposition of sodium

azide

Which of the following oxidation states is

common for all lanthanides ?

A +2

B +3

) +4

D) +5

The electronic configuration of transition
element “X”, is +3, oxidation state is
[Ar]3d5. What is its atomic number ?

(A 25
(B) 26
© 27
(D) 24

37.

38.

39.

93,08 305 N,, 3, FBOOUWBITE Ao
(4) SREVORT FEBTER), DO
DS

(B) NH,CI TRWEIBI),

TOTWEIROT WEFATN
TRV,  BDTORVRTW T
RIRRIRPRPIROTHT

NaNO,

(9);

(D) RArBO @%a‘d&%@)@od PRI

8

@

=T ot~ S eV T BV b o
ROFFBRYN TBRFETONTOZTS ?

(A)
B)
©)
D)

+2
+3
+4
+5

2,003 ERVRS” B B “X” T SRS’
Sows® +3 6N, T8 VPR DT
[Ar]3d® N AGEE B R0 NI
@O F0s8, PRSI ?

(A) 25

B) 26

© 27

(D) 24

Chemistry
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40. n-Propyl chloride reacts with sodium

41.

42,

metal in dry ether to give

(A) CH3-CHy~-CHy—- CHy - CHy - CHj4
(B) CH3- CH,- CHg

(C) CHg-CH,;-CH,;- CHg

(D) CHg— CHy~ CHy— CH, — CH, —
CH, - CH,

When the vapours of tertiary butyl
alcohol are passed through heated copper

at 573 K, the product formed is
(A) But-2-ene
(B) 2-Butanone
(C) 2-Methyl propene

(D) Butanal

What is the increasing order of acidic
strength among the following ?

(i) p-methoxy phenol
(ii)
(ii)

p-methyl phenol

p-nitro phenol

(A) idi<iii<i

(B) iii<ii<i
(9]
(D)

1<ii<iii

1<iii <ii

40.

41.

42.

D-FREFOT  URERES,  AwedODO
SeBrRoDN BTN WOE Fockog
(A) CHz— CH,— CHy— CH, — CH, - CH,
(B) CHz— CH,- CHj,

(C) CHy~ CH,— CH, - CH

(D) CH3- CH,— CHy— CH, — CH, —
CH, - CH,

Z308  wee® SERFOT SOOI
573K 1R  OORT 0T &0
TOCVORTIIN WO 3,03PO

(A)
(B)
(©)
(D)

2R 83-2- 0O
2-WR IR’
2-0g " JpBex*
LTS

BRNTY, ), Fuod Fdze Bweerds
ROO3RT 8>

(i)  p-QOPd Yo’

(i) Pp-FO® Yo

(ifi) p-FdR yToF

(A) di<iii<i

(B)

(®)
(D)

li<ii<i
1<ii<iil
i<iii<ii

Chemistry
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43. Which of the following is more basic than | 43- éq}ﬁd@r{e}q CERPY  BAOT N £?"°)~23

aniline ? . BB RL0NTS ?

(A) Diphenylamine (A) C%o?)&;@" @ﬁ%&"
(B) Triphenylamine (B) 3o
(C) p-nitroaniline ©) p-%éﬂ@@@@&‘
(D) Benzylamine (D) Wooresys®

44, D-RBRfTReersS 0 evordd

44. The two forms of D-Glucopyranose are BRTONR) B8 068 3030TT

¢alled *
(A) zg"}o.magpeoiramc:
(A) Diastereomers
(B) &80e00°,
(B) Anomers
©) a&ds@j
(C) Epimers
(D)  ATIQEITRERTT,

(D) Enantiomers

45. ISNIRNTE), 03RO 9,0WE TBOTT
45. Among the following, the branched chain Chilovrint

polymer is
(B) O R
(A) Polyvinyl chloride

(B) zﬁ’ﬁc;jw

(B) Bakelite

(C) Low density polythene (C) B B33 TORE*

(D) High density polythene D) T B3 ORI

Space for Rough Work / 2,083 i?vﬁii :!é%‘f
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46. Edge length of a cube is 300 pm. Its body | 46- 2,08 FIB WO W% 300 pm NI

diagonal would be B0 5203 FeoF )
(A) 600 pm (A) 600 pm
(B) 423 pm (B) 423 pm
(©) 519.'6 pm (C) 5196 pm_
(D) 4505 pm

(D) 4505 pm

47. Which of the following is not a condu_ctor
‘ 47. 33 IINIYNYQ YT DWYT T B

of electricity ?
(A) Solid NaCl (A) I NaCl

B) Cu
B) Cu
(C) Fused NaCl

(D) Brine solution (C) 3ONE NaCl
D) evF) Q03B Jedd

48. For a cell reaction involving two electron
0

changes, E = 03 V at 25°C. The
4 cell 48. 25°C 39 20D aeﬂ?mwp? WRRTH

equilibrium constant of the reaction is , 0

o3en0ss 2,000 8pe3 §odor, E_ | =03 V.
(A) 10710 33 8,03003) FORS JTHOB

@ Q@

(B) 3x102 (A) 10710
(C) 10 (B) 3x102

C) 10
(D) 1010 &)

(D) 1010

Space for Rough Work / 2,883 i?e);b‘%; .-"3@%;e
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49.

50.

The value of rate constant of a pseudo

first order reaction

(A) Depends only on temperature

(B) Depends on the concentration of

reactants present in small amounts

©)

Depends on the concentration of

reactants present in excess

(D) Is independent of the concentration

of reactants

(CHg)3SiCl is used during polymerization

of organosilicons because

(A) The chain length of organosilicon

polymers can be controlled by
adding (CHg)3SiCl

(B) (CHg)3SiCl improves the quality

and yield of the polymer

(C) (CHgy)3SiCl does not block the end

terminal of silicone polymer

(D) (CHg)3SiCl acts as a catalyst during

polymerisation

49.

50.

0T, BP0 JAFS o0 BenODBI0BT
SRR

@A) 20038 oed 303,

£9BO0WITONTOBTI

(B) T3NIFER TOTI0D TR [TWRET

B0e¢ L9BOOWBTINTIBTS

©) TINIIR oSN Fedy, TR

B0ee3 L9BOOWBTNTIBTS -

D) T8XIrsE TTI0H Roed WRLoWI

TNROY,

SMOFIPVOBRCI NG
(CHg)3SiCl 03538 20$20398038

TOBOOTTEITE),

(A) (CHg)3SiCl o, R0
STRFIPVOBRD TOTOTE ITHP
BB, LBBTEY BORIBR
(CHg)3SiCl, ORT’S moss R
BRA YRreosss) BRI
(CHg)3SiCl, 29805 ToOR0T*S 8o
BHODRY, RORBROY,

(CH3)3SiCl, TOR008303E),

RENRPF BN BEFROITO

(B)

()

(D)
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51. When PbO, reacts with concentrated |51. Fwe HNOg 030 PbOy %203 S8ramon

HNOg, the gas evolved is VORI 9O
(A) NO, (A) NO,
(B) O, . | (B) O,
(C) Ny (C) Ny
D N,0 ' (D) N0

52. TIOD BRGTTE, KMnO,
QUZBRF£2TO00INN TIFRIYTI. TIRER
RnEREY, KMnO, 8 KI seodr

62. KMnO, acts as an oxidising agent in
alkaline medium. When alkaline KMnO,

is treated with KI, iodide ion is oxidised

to BEFATON I 203R° QVBXFR
@A) I, @A) I
(B) 10~ B) 10
©) I0; (€) 103
® 0] (D) 10,

53. [Fe(NOy)3 Clg] @33 [Fe(O — NO), Cl;]
53. [Fe(NOy)3Clgl and [Fe(O — NO); Cly] 25008533

shows

(A) RoW0E ARIONS

(A) Linkage isomerism
(B) w008 AnMORE

(B) Geometrical isomerism
(C) Optical isomerism (C) W$B IZPON3

(D) Hydrate isomerism D) e IRPORS

Space for Rough Work / %88 3033* f();é
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54. Tertiary alkyl halide is practically inert

56.

- (©)

to substitution by 'SN2 ‘mechanism

because of

(A) Insolubility

(B) Instability

(C) Inductive effect

(D) Steric hindrance

The products X and Z in the following
reaction sequence are

@ +CH, - CH = CH,

A]Clafether
"N X
Heat

OH

H+/H20
Heat

0,/130°C

(A) Isopropylbenzene and acetone

(B) Cumene peroxide and acetone

Isopropylbenzene and isopropyl

alcohol

(D) Phenol and acetone

54.

55.

(A)

B, e5638 SRE0SRETOF0% T3¢ §,03000E,
oo sder BGWNY T 0dpeNFmON
RBLIONTOZTS DFOTT ?

(A) IBROPOY,

(B) ejﬁgpdé’

(C) BoBEES TOFRO

(D)  R§OT TOFTIRO

3 NI TRoAT  Fod  XoeIcHh,
U3FNEd X 3083 Z 1dHR

AlClg/ether
Heat

OH

0,/130°C _ H*/H,0

I

Heat "

DRRTRFO® Jozdea’ FOB AR’

B) 006 B8, B BoF SRERe

5

C) ® Joe3en®

BRI, R03
=D N =2
RRTRTFO vdRtme

]
@éo

8

D) eSoe* R iR’
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56. The appropriate reagent for the following | 56.

transformation is

0
|

(Y o Y
HO HO

(A) Zn-Hg/HCl

(B) HyN — NH,, KOH/ethylene glycol

(C) Ni/H,

(D) NaBH,

57. In the following reaction

CH,

CrO,Cl,

57.

Cs,

the compound Z is
(A) Benzoic acid
(B) Benzaldehyde
(C) Acetophenone

(D) Benzene

8 NS TOBIFSoNE, dezordn e
3,0309%908 &Y

0
I

jae ESe oy
HO HO

(A) Zn-Hg/HCl1

(B) HyN - NH,, KOH/ethylene glycol
(w08 1, me)

(C) Ni/H,

(D) NaBH,

21 39N TTADRT B Z B Hdoss

CH, |
Cr0.Cl " H%)
r .
22 > X 3 >7
CS,

(A) FoBypeodds® SRTF

(B) zﬁomeﬁgﬁw

(O TS

(D) 230e®
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58‘

59.

60.

The reaction of Benzenediazonium
chloride with aniline yields yellow dye.

The name of the yellow dye is

(A) p-Hydroxyazobenzene

(B) p-Aminoazobenzene

(C) p-Nitroazobenzene

(D) o-Nitroazobenzene

The glycosidic linkage involved in linking
the glucose units in amylose part of

starch is

(A) Cl -C 4 B-linkage

(B) C;-Cgo-linkage

(C) Cy-Cgp-linkage

D) C-C4o-linkage

Ziegler-Natta catalyst is used to prepare

(A) Low-density polythene

(B) Teflon

(C) High density polythene

(D) Nylon-6

58.

59.

60.

Bo®  Fwrinedoddo Linjefagtollaly
29" (Aniline) I8N as’%*@ws%d 3
eVZZOINNIZE. & YD § (Dye) &° TATO

(A) p-ZRERR SRR
(B) p-oR)Reunions’
(©) p-Feineweinelon
D) o-FHincweintionts®

AFFS oRdeT  PRa, RBneT
C0REFNTR),  woRrTW 1§, BReFRTT
20053 O3RN ?

(A)
(B)
(©)
(D)

o

Cy — C4 B-linkage
C, — C4 o-linkage
C; — Cg B-linkage
C; - C4 a-linkage

3 3508 oInE [NWY,  SOIRORLW
DENO° -2, RBeNITFIRR),

, UB03ReNROZT ?

(A) ©POTOG, TOPE

(B) oy
(C) 870T, TOPET*

D) . @ma@-G
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